Chapter (6)
Continuous Probability Distributions
Examples

Normal probability distribution

How to find the area under the normal curve?
If u=50 & o=6

Find

(1)P(X <60.8)

= P(Z <%j
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(2)P(X >39.2)= p[z S 39.26—5oj

P(Z < 60.86—50j

p(Z <1.8)= p(1.8)=0.9641

- P(Z > %) — p(Z >-1.8)=1- p(~1.8)=1-0.0359 = 0.9641
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(3)P(X > 60.8)= p(z N 60.8—5oj

= p(z >%) =p(z>1.8)=1-p(L.8)

=1-0.9641=0.0359
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(4)P(X <39.2)= p(z 3 39.2_5oj
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= p(z < ): p(Z <-1.8)= p(-1.8)=0.0359
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(5)P(59 < X <60.8)= p(59—50 < Mj

<Z
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= P(%<Z <%}= p(lL5<Z <1.8)=P(0<Z <1.8)-P(0<Z <15)

= p(1.8)— p(1.5)=0.9641-0.9332 = 0.0309




(6)P(39.2 < X < 41)= P(39'26_50 <Z< “1;65’(’)
B P( 1: S<z <_Tfa)= p(-1.8<Z <-15)

= p(-1.5)-p(-18)

=0.0668 —0.0359 = 0.0309
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(7)P(41< X <60.8)= P(41_50 —60'8_50j

<Z<
6

6
=0.9641-0.0668 = 0.8973

_p[—9<z<%j p(-1.5<Z <1.8)= p(1.8)— p(-1.5)




